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Facts to know:  From yesterday’s Circle Task, we learned that the equation of a circle in standard form is  (x – h) 2 + (y – k) 2 = r 2 ,  which immediately tells us that the center is located at the point  (h , k)  and the radius will be  r.  However, sometimes the equation for the circle may come in general form   A·x 2 + B·xy + C·y 2 + D·x + E·y + F = 0 , which is not as easy from which to graph but might be more convenient with which to do other “algebra things”.  And, of course, we have the algebraic skills to change the equation from one form to another.  
1.)  If A has coordinates  (4, -2)  and B has coordinates  (-6, -14),  write the equation of 
     the circle that has diameter AB.

2.)  Write the equation of the circle that is tangent to both the positive x-axis and the 
      positive y-axis if the area of this circle is  49π ?   

3.)  Write the equation of the circle that is tangent to both the positive x-axis and the 
      positive y-axis if the area of this circle is  24π ?   

4.)  Write the equation of two different circles with circumference  16π  that are tangent 
      to the x-axis at  (5, 0).

5.)  If  (A  has equation  (x – 6)2 + (y + 2)2 = 64,  and a chord of A is constructed that is
      5 units away from A,  how long is that chord ?

6.)  Find the center and radius of  x 2 + y 2 – 8x + 4y = 80.

7.)  Find the center and radius of  x 2 + y 2 + 14x – 9y = 11.75.

8.)  Find the center and radius of  9x 2 + 9y 2 = 64.

9.)  Find the center and radius of  4x 2 + 4y 2 + 8x – 24y = 9.
10.)  Write the equation of the line that is tangent to  (x – 3)2 + (y + 2)2 = 169  at (-2, 10).

11.)  Write the equation of the circle with center  (4, 0)  that is tangent to both 
       y = ½ x + 3  and  y = - ½ x – 3 .

12.)  Circles  P  and  Q  are tangent to each other 

        and to the axes as shown.  If  PQ = 26  and                             

        AB = 24,  find the coordinates of  P  and  Q .                    P                                                                        

                                                                                                                      Q

                                                                                                  A               B       

13.)  A circle is inscribed in a triangle whose vertices are  (0, 0),  (24, 0)  and  (0, 18).  
        Write an equation of this circle.

14.)  A regular hexagon is inscribed in the circle determined by  x 2 + y 2 + 4x = 32.  
        Find the area of this hexagon. 
15.)  Write an equation of any circle that is tangent to  x 2 + y 2 + 12y = 45 ,  and explain 
        how you know the circles are tangent to each other.

16.)  Segments  AB  and  CD  are both chords of circle  K.  If  A = (8, 13) ,  B = (8, -3) ,
        C = (-6, 11)  and  D  = (10, 11),  write the equation of  (K .
17.)  If  M = (-4, -2) ,  N = (14, 10)  and  P = (22, -2) ,  and if  (MNP  is inscribed in a 
        semicircle with center Q, 


A)  Write the equation of  (Q.

B)  Find the area of  ΔMNP.


C)  Why is  (MNP  a right angle ?

18.)  Consider the circle defined by the equation  x 2 + y 2 – 14x = 1   and the line l that has 
        equation  y = x – 7.  Find the points of intersection between  l  and  (C.

19.)  What is the shortest distance between  (x - 2)2 + (y – 2)2 = 4  and the  origin ?
20.)  Find the shortest distance between the graph of  x 2 + y 2 - 16x + 6y + 24 = 0  and 
        the point  (-5, 6) ?

21.)  Write the equation for the locus of points that is  8  units from the point  (7,-12). 

22.)  If  A  and  B  lie on  x 2 + y 2 + 4x – 2y = 31 ,  and if the measure of  arc  AB = 120º,


A)  Find the length of arc AB.


B)  Find the area of the sector determined by  arc AB.
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